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MOST EXPECTED QUESTIONS
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* After walking 6 km, I turned to the right and then walked 2 km. After then I
turned to the left and walked 10 km. In the end, I was moving towards the
North. From which direction did I start my journey?

* 6 ToRHT <IeT o T8, § SRiT 3T 9T AN bt 2 ferdT <t 36k sTe H st ST et
SHIT 10 fereft =rem| o o, & I kT A e T&T A1 8 At Ara feher fommm & &
hI?

A.North
B. East
C. West
D. South



® Mahesh starts walking towards east in the morning. After walking 8 metres, he
takes a 90 degree turn in clockwise direction and walks 5 metres. Then he turns
225 degree 1n anticlockwise direction. In which direction 1s Mahesh standing

now?

® TR Tl 3hTeT qol TQeTT o ST T HTERY ST o § HISK <Ie o TG, 378 3l
fae # 90 Teuft wedT @ 31N 5 Hiet <reAar 2| ot a8 ararad fawm | 225 et qear
RS 379 forw faumm 0 wer 27

A.East

B. West

C. North-East
D. North-West



* If republic day 1n any leap year was celebrated on Friday.On which day of week
will the Independence day of same year celebrated?

fq foret AT Y § U1 oo YTHa shl HATAT STIAT 97| 36T 9 AT TdaIdT a4

T o Torg foT AT SITae?

A.Tuesday/HTcIaR
B.Wednesday/s9dX
C.Thursday/JEEadaR

D.Friday/RshdT
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®* What was the day on 15th august 1947 ?
* 15 ST 1947 sl 4 91 fa 912

A. Wednesday
B. Thursday

C. Tuesday
D.Sunday



* Q. Find minimum number of straight lines in
figure?

(A)9 (B)11
(C) 15 (D) 16




®* Q. Find number of squares 1n figure?

(A) 18(B) 19
(C) 25 (D) 27
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®* Q. Count the number of triangles and squares in the given figure.

(A) 28 triangles, 3 squares VAYA’X‘

(B) 24 triangles, 5 squares
(C) 28 triangles, 5 squares
(D) 24 triangles, 3 squares




* Q.: All the opposite faces of a big cube are coloured with yellow, red and green colours.
After that 1s cut into 216 small equal cubes. How many small cubes are there where one
face is green and other one 1s either yellow or red ?

* T Ueh &1 B o T ool Weteh died, et 3N {1 6 T €| 3Heh o118 216 BIE S F-oH H
T TN STTAT 81 UH fohe I B € TSTTH Teh Weteh &01 & ST UL el AT ATt &7

A. 16
B. 48
C. 32
D. 64




* Q.: All the opposite faces of a big cube are coloured with yellow, red and green
colours. After that is cut into 216 small equal cubes. How many small cubes are
there whose no faces are coloured ?

* TI5: Ueh oI5 O o ¥t Torodia weteh dicd, ATeT 3T 8 4T 9 & €| 36k 914 216 Bl

SIS SRYSH W ST ToTal STTT 2 UM Tohc B1E B § STehT shis theteh M 81 82

A. 128
B. 32
C. 36
D. 64




* Q.: All the opposite faces of a big cube are coloured with yellow, red and green
colours. After that is cut into 216 small equal cubes. How many small cubes are
there whose 2 faces are coloured ?

* TH: Teh 1S T o Ol faoiid sereh dit, el 3TR gL T 6 1 8| 36k 918 216 Bie
SRR o8 H o1 ToTam ST 81 U fohd B o1 & TSieh 2 wetes TfHF 82

A. 128
B. 64
C. 16
D. 48




* All the opposite faces of a big cube are coloured with yellow, red and green

colours. After that 1s cut into 216 small equal cubes. How many small cubes are
there whose only one face 1s coloured ?

* Ueh oS U9 o gt faadia oier dict, AT 3T LT 8 T | 3Tk 918 216 DI S
FIoH H a1 form ST 21 U8 Fohd i o & FSieht ohaet Tk & wateh T &2

Yy / / / / / A
Y 77 7 7 7 Z
A. 128 Y 7 7 7 7 7 4
B. 64
C. 16
D. 96
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* Q.Choose the correct mirror image of the given figure (X) from amongst the
four alternatives ?

* Q. I forshedi § ¥ & 118 STTeR(d (X) T @& 39T Hicifoirel <=7




@

* Q. Choose the alternative which is closely resembles the mirror image of the
given combination

* Q. 39 forercd oAt = R ST AU 71T GAISI <t U0 B & G0 &

ANS4WMG3
(1) CONMPSNY (2) EOMWAEUA

(3) 3CAMYRUY (4) ECAMP 2UY




* Q: Which number will replace the question mark ?
* Q: YHaTH g o T U hIF Yt AT STt 2

(A)9B
(B) 4B
(C) 12A
(D) 12B




* Q.: Two positions of dice are shown. What will appear on the opposite to the face
containing 3?

T 9TE <l af Referat 3umis 718 € 3 aTel Sereh o forid =T feas

AWd &4

(A)3 (B)2
(€)1 (D)4
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Q.: From the four positions of a dice given below, find the colour which 1s opposite to Violet ?

T i<l U 77U ek UTe <hl IR fEufaat § 9 98 T J1d shitS1e S ST oh fauadia 89

ATV £5Y4 VA LZW4

VOILET

(A) Red (B) Yellow
(C) Blue (D) White
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* Q.: Three positions of dice are shown. What will appear on the opposite to the face
containing 2?

T T hi o1 Rerfaat g 18 21 2 el weteh o Tl R fewrs <

AWy AW4 A4
B B

(A)3 (B)S

() 1 (D) 6



* Q.: Two positions of dice are shown using A to F letters. What will appear on the opposite <t
to the face containing B?

o Q. A F 37eRI T RINT 3 g O o1 31 Reaferdt it awita T 81 B ATey ek o i
fewars Tmm?

y'e ‘'@ F S
-

(A)F (B) C
(C)E (D)CND




* [f in a certain language NATURE 1s coded as MCQYMK How is CREST
coded 1n that code?

- gfg ueh AT AT I NATURE T MCQYMK & ¥T F Hifsd
fopaT SITaT &, @ 39 IS H CREST &l hd Hhifed fhAT ATTIM?

A.CPHOY
B.BTBWO
C. BTBOY
D.BTHKO



D
* If in a certain language ENTERTAIN is coded as QOHPTIILF How is =

JUKEBOXES coded in that code?

o Ife U Higd 99T # ENTERTAIN 3 QOHPTIILF o &9 H shifsd fohIT ST g,
a1 39 &I § JUKEBOXES bl ¥ shitsd foham SITarm?

A.HVCHCIDMB
B. HVYDKINOCA
C. HCMKDCHNC
D.HVMKDINHC



* A is the only sister of B. C 1s the father-in-law of E. D 1s mother of A. E 1s
married to the only son of D. So how is E related to A?

* A, B &I Sohaildl Sig4 21 C, E 1 BIel-39-cil 81 D, A shi A 8| Eshr sl D
SheId O 6 8% &l A1 B, A § ¥l €elfard & 2

A) @W—éo_—r—ﬂ'\f/Sister—in—law
B) <I&<1/Sister

C) {15 /brother
D) "TH/Mother-in-law



* Pointing to a man in a photograph a woman says “He 1s the father of my only daughter-in-

law’s father-in-law.”How 1s man related to woman?

* Teh TEAIT H Ueh & ohl 3T S 3hd BT Uk Hieoll el &, "d8 Hil Sehadld! s1g oh €€ oAl U
2" TN AT ¥ Y Helfod 82

A. Father
B. Brother
C. Husband

D. Father-in-law



®* Ram is 14th from the left and Shyam is 19th from the right in a class. If these two
interchange their places, Ram becomes 17th from the left. How many persons are there in
the row?

* (0 Uk T H I U 149 3T MW S ¥ 199 TIM W 2| IS T T ST T YT T FSd Ad
2, AU IR Y 174 TA 9 AT S1d 3| dfth 9 ford safw 22

A. 35
B. 34
C. 36
D. None of these



* In a row of persons, the position of Saket from the left side of the row 1s 27th and position
of Saket from the right side of the row 1s 34th. Find the total number of students in the

row?

* AT shl Uk Ufth H, Ufth ok oI5 3T H GTehd okl €A 2747 & 3T Ulh oh aT8 3T § HTohd oh

T 34301 81 Uitk | oo ol shet €T e shifsTe?

A. 60
B.61
C.62
D.59
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® There are 24 students in dance class, and the teacher 1s planning for an arrangement of
students on stage. Sampratha 1s 9th from the left side of the row and Supreetha 1s 22nd
from the right side of the row. Find the number of dancers standing between the sisters

Sampratha and Supreetha?

° TG FATH H 24 BT 8, I 3787eh e I BTAT ohl TEAT <hl AISHT 54T T | TIAT U<k o o5

ST e T W 2 SR G fh o 18 SR & 2260 T T &) ST S YT a1 o off=

G IdohdT shi GEAT T shiTT?

A.4

B.5

C.6

D.7

2
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* Nine persons A, B, C, D, E, F, G, H, I are watching a movie in a theatre sitting in a row
facing North. B is at one end of the row. H is seated adjacent to both F and G. C is to the
immediate right of D and at the third place to the right of E. A 1s immediate left of F. F 1s at
the third place to the left of B. Who is at the end of the row?

* ft=ARE A, B, C, D, E, F, G, H, [ T Rzt § Ua fthew 3@ T & Sl U Ufth § ST ol AR q@

Fh IS B BURE & TR BRI H, F 3G SHT o Mg 93121 C, D F ik S 93T @ 3T E
F A AR AR A, Fh 3F I 21 F, B o o8 I 19 €19 0 2] hi4 © Uk o 3iq 49

A. C

B. A

C. E
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* Seven person A,B,C,D,E.F and G are standing in a straight line. D 1s in the Right side of G.
C, 1s in between A and B. E is between F and D. There are three person in between G and
B. Who i1s at left end?

* gIdsAh A, B, C, D, E, F 3 G T ditli Ward @ 21 D, G o 315 AN 2
* C,AINBHAATRIE, F 3R D & o9 gl G 3T B & si= o Ak & o0 S I I &2




* Eight friends A, B, C, D, E, F, G and H are sitting around a circular table facing each other
for a lunch. A is opposite F and third to the right of B. G is between F and D.H is to the left
of D. E 1s between C and A. Who 1s sitting third to the right of C?

* ABTE A, B, C, D, E, F, G 3T H Ueh JTeh 4T o =T 3 Teh THL o W WIS L o
RIT A 81 A, F 3 o 2 o B % 2 e 21 G, F 3 D ¥ o § 21 1, D % a1 37w )
E, C 3R A S s H 8l C o I U 1L T T hiT 3T 27

(a) C
(b) H
(c) G

(d) B
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®* What will come 1n place of the question mark?

* TATEIh oIvg ah LA T -1 AT ?
2 11 46 141 ? 291

A.206
B.226
C.246
D.286



®* What will come 1n place of the question mark?
* TATEIh oIvg ah LA T -1 AT ?
*5 6 14 23 87 ?

A.112

B.212

C.69

D.None of these



®* What will come 1n place of the question mark?
* JYaTeeh (w8 oh TATH I AT AR 2
*5 6.2 9 134 194 ?

A.27
B.21
C. 28
D.None of these



®* What will come 1n place of the question mark?

* TATEIh oIvg ah LA T -1 AT ?
©®32 32 40 64 112 ?

A.180
B.192
C.174
D.196



* Find the wrong number 1n the following series

(\

o MATTRIT YEe | TTetd ST 1d il

*15 28 43 60 79 101

A.79
B.101
C. 28
D.60



* Find the wrong number 1n the following series

o MATTRIT YEe | TTetd ST 1d il
*64 25 68 30 72 40



* Find the wrong number 1n the following series

(\

o MATTRIT YEe | TTetd ST 1d il
®* 190 166 145 128 112 100

A. 166
B. 128
C. 145
D. 100



® An accurate clock shows 7 a.m. Through how many degrees will the hour hand rotate
when the clock shows 1 p.m.?

* T I TS G 7 o @t & S 7Sl | 91 Q@ & 1 s ol 98 Tt feult st

A.154°
B. 180°
C.170°
D. 160°



* What is the angle between the minute hand and the hour hand of a clock at 5.30?
* 5.30 T EE! AT e T g3 ST Hie sl G o sl T HI0T AT 22

A.05°
B. 15°
C. 25°
D. 35°



* A clock 1s set right at 8 a.m. The clock gains 10 minutes in 24 hours will be the true time
when the clock indicates 1 p.m. on the following day?

* T TS I YoIg 8 SISt Sleh He oA SITefm &, =it 24 € | 10 fHe 31T 7@ STl €, I8 el and
BT ST 51T 1 St STl ohtell € g T

A) 48 min. past 12.
B) 46 min. past 12.
C) 45 min. past 12.
D) 47 min. past 12.



* At what time between 2 and 3 o'clock will the hands of a clock be together?
* 2 3 Sl o Sl R I SIST o1 T3t Ueh |ref ’IT?

A) (9+10/11) min past 2
B) (10 + 10/11) min past 2
C) (11 +10/11) min past 2
D) (12 + 10/11) min past 2
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®* Which of the following diagrams indicates the best relation between India, Lucknow
and World ?

o [feIfigd § 9 &l9 97 3G YA, @S IR {99 o i g8 37 el ohl S30idT 27




®* Which of the following diagrams indicates the best relation between Country, @
City and State ?

frefaiaa 9 9 =19 @1 1 29T, e 3R UST o S god 3= el shi q9iidT 272

©O0 - ©

. . 00
OO




®* Which of the following diagrams indicates the best relation between football, cricket
and hockey?

o (ARG | & I |1 3 BesiTa, Thohe ST ETehl o sii<l Todl 37 Hel shi G187
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®* Which of the following diagrams indicates the best relationship between animal, cat
and tree?

o ffeTfiad o & Sl |7 311 Y, foreelt 3T U o e deidl 3T Helel i qeITaT &7

A_©Q . (©

. . 00
OO




®* What should come in place of the blank?
o Ti=h TATT & LA IT AT ITHT AMRT?

* FAG, GAF, HAI, IAH

A.JAK
B. HAL
C. HAK
D.JAI



®* What should come in place of the blank?
o Ti=h TATT & LA IT AT ITHT AMRT?

e CMM, EOO, GQQ, . KUU

A.GRR
B. GSS
C. ISS
D.TT



®* Some X Is Z

®* NoZ Are M

* FTX,Z7

© FIEZ,MTE &

®* Conclusion

® some X are not z

® 7-some X are not m

® 3_some m are not x

® 4- no m are x

* -9 X,z ]l §
®2-hd X, m T8 &
* 3-?17_295m,x:|ﬁ%
° 4-<‘=Iﬁ§m,X:|%(T%




Statement-

Some Squares are Circles
No Circle is a Triangle

No Line is a Square

Conclusion-

1-All Squares can never be Triangles

vV v v v v vV Y

o 1-gft ot et oft o 2T &1 weRd

* )-FS ATEH Tohel &

2-Some Lines are Circle

Only 1st conclusion follow
Only 2nd conclusion follow
Either 1st or 2nd follows

. Neither 1st nor 2nd follows
Both 1st and 2nd follows

mooO®P



® Question : Choose the odd-one out.
* 9% : %W-Tﬁﬁlﬁlﬁl

* A:120

* B: 168

* C:290

* D: 380



* Choose the odd one out.
o forew =

* A: Corn

* B: Wheat

* C: Cotton

®* D: Jowar



* Choose the odd one out.
o forew =

* A: 29

* B:53

* C:85

* D: 125






